Bass Guitar
String Bass

Moment For Morricone

Music from: " Once upon a time in the West " and " The Good, the Bad and the ugly "
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Ennie Morricone

Andante J=92 arr, Johan de Mey
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Adagio J=66-72

(" Come Una Sentenza")
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Allegro Moderato =100
"Addio a Cheyenne"
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Recorded on The Best of Johan de Aeij - 3CD Bax {(311076720)
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€ Famous music corporalion New York U.S.A. . Voor Nederland: Chappel & Co. Holland b, v. Naarden.

€ 1996 by Edizioni Eureka Haly. All rights for the world outside Italy controlled by United Artists Music Loe. Yoor Nederland:
United Artists Music Nederland b. v. , this publication by special permission. International Copyright Secured. All Rights Reserved.
© 1996 Molenaar Edition B,V., Wormerveer, The Netherlands, No part of this publication may be reproduced in any form of print, fotoprint,
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"The Good, the Bad and the ugly.”
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Allegro Moderato =100
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Thema " Once upon a time in the West
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molto rall. Very Broad (in 8)
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75 Andantine J=92
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Allegro Vivace
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